e

Detail B
Scale: 1:2

Bolt M16*70 2 'DIN933

Bolt M16*40 |2 'DIN933

Bolt M12*55 8 'DIN933

Washer 12*24 8 'DIN125

Nut M12 8 'DIN934

Nut M16 41 DIN934

Washer 16*30 39 DIN125

Bolt M16*55 39 'din933

Screw HEX SOCKET C-SUNK M10*35 4 'DIN7991

Washer 16*30 8 DIN125

Bolt M16*50 8 DIN933

Eg}y;g_@qggr Liner 345 185 31 1 $E§?+NR i i

Volute Liner 15 |1 \NR i N

Apex 130 90 202 1 NR Or PU | 5 :

Vortex 249 130 300 1 Hi-Cr | g ‘

Apex 90 55 202 1 NR OR PU =} %. >

Lining Outlet Connection 285 145 152 |1 GG25+NR | \

Cone Liner 384 176 580 1 NR | X .

Cylinder Liner 380 380 1 NR | \ | 1,6 D%%f | |1400/--/-- | W.Tolami _

Apex Box 267 179 197 2 Al LA Q/( AV P —_— DATE NANE DESCRIPTION

Lining Input Adaptor 219 107 113 1 GG25 Date: 1402/07/13  |Project Name: Cyclon 15 1in 'r\

Eiztg ?gver 15 : _i’i:?.? | :::n :r:::achlne TElE:iode Ami

b;f'l_lnder: 380 380 _1 _3?3? Confirmedi M.Arashmanesh |Assm.No: -- v

Cone 384 176 580 1 St37 | Approved:| Gh.Zare Drw.No: - - Scale:1:1 [Rev: 00

Part Name QTY Material/ Dimension Tolerances: [|Material: -- Weight: - -kg Size:A3 -
Standard | 180 2768-f Dimentions : mm | Qty: 01 Sheet:01/10




